A chef was experiencing difficulty in getting brands of pasta cooked to the appropriate firmness.  She conducted an experiment with two brands of pasta cooked for either 4 minutes of for 8 minutes. The response variable measured was the weight of the pasta. The result (in terms of weight in grams) for two replications of each type of pasta and cooking time are as follows:

	Cooking Time

(Minutes)
	Cooking Time

(Minutes)

	Pasta type         4                   8 
	Pasta Type           4                        8 

	American          265               310

                          270               320
	Italian                  250                     300

                            245                       305


At the .05 level of significance, what is the F statistic used top test whether there is an interaction between the type of pasta and the cooking time?

A. 1.28571

B.  7.70865

C. 24.1429

D. 28.1250
